Dr. Jieun Pando

Ector County ISD Director of School Nutrition (432) 456-9741
1120 W 10th St Odessa, TX
Odessa, TX 79763
lieun.Pando@ectorcountyisd.org



RFP#Bid 24-19-2SN Addendum 1- K12 CAFETERIA POS-COMPUTER HARDWARE

- Purpose: To acquire updated POS computer hardware for all campuses. The POS computer hardware is required for accurate meal counting and claim procedures.
- Background Info: The School Nutrition Department utilizes POS computer hardware at each meal service. Having the updated POS computer hardware will ensure the most efficient meal service experience for students and staff and the accurate reporting of meals served.

• Cost: \$130,387.10 Estimated

Funding Source: Federal Funds 240

Recommended Supplier/Service Provider:

Virtucom
Hypertec USA Inc
Malor & Company Inc.

Board Approval	Date



Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
HPI International, Inc.	5	EA		50.00	\$0.00		Brother	DCP-L5650DN
				- 77177		HP Inc HP LaserJet Pro MFP 4101fdnMultifunction printer - B/W - laser - Legal (8.5 in x 14		10.000.000.000.000.000
[ALT1] Southern Computer Whse						in) (original) - A4/Legal (media) - up to 42 ppm (copying) - up to 42 ppm (printing) - USB 2.0,		
(scw)	5	EA		\$399.00	\$1,995.00	Gigabit LAN	HP	2Z618F#BGJ
454344580	5	EA		\$409.00	\$2,045.00		Brother	DCP-L5650DN
Hypertec USA Inc, (Hypertec Direct)	5	EA		\$418.25	\$2,091.25		Brother	DCP-L5650DN
CDWG	5	EA		\$420.00	\$2,100.00		Brother	DCP-L5650DN
Frontier Technology, LLC	5	EA		\$433.34	\$2,166.70		Brother	DCP-L5650DN
B & H Foto & Electronics Corp.	5	EA		\$439.99	\$2,199.95		Brother	DCP-L5650DN
Kijero LLC	5	EA		\$453.00	\$2,265.00		Brother	DCP-L5650DN
HOWARD TECH SOLUTIONS								
(HOWARD INDUSTRIES INC)	5	EA		\$462.00	\$2,310.00		Brother	DCP-L5650DN
TekVisions Inc	5	EA		No Bid			Brother	DCP-L5650DN
Virtucom	5	EA		No Bid			Brother	DCP-L5650DN
	W-100	-895		1,4080-1110			-5000-00000	7528-7011001-752-701
1	Multifunction					44		
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Total	Additonal Information
HPI International, Inc.							0	
[ALT1] Southern Computer Whse (SCW)	1						0	NOT THE PREFERRE PRODUCT
454344580	60	3	10	3	5	10	91	
Hypertec USA Inc, (Hypertec Direct)	55	3	10	3	5	10	86	
CDWG	50	3	10	3	5	10	81	
Frontier Technology, LLC	45	3	10	3	5	10	76	
B & H Foto & Electronics Corp.	40	3	10	3	5	10	71	
Kijero LLC	35	3	10	3	5	10	66	

High Yield Black Toner Cartridge								
Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #
HPI International, Inc.	100	Cases		\$0.00	\$0.00		Brothers	TN-850
						Brother Genuine TN850 2-Pack High Yield Black Toner Cartridge with approximately 8,000		
[ALT1] Kijero LLC	50	Cases		\$184.50	\$9,225.00	page yield/cartridge	Brother	TN850
Hypertec USA Inc. (Hypertec Direct)	100	Cases		\$102.68	\$10,268.00		Brothers	TN-850
CDWG	100	Cases		\$105.00	\$10,500,00		Brothers	TN-850
Frontier Technology, LLC	100	Cases		\$105.66	\$10,566.00		Brothers	TN-850
B & H Foto & Electronics Corp.	100	Cases		\$106.87	\$10,687.00		Brothers	TN-850
454344580	100	Cases		\$109.00	\$10,900.00		Brothers	TN-850
HOWARD TECH SOLUTIONS (HOWARD INDUSTRIES INC)	100	Cases		\$111.00	\$11,100.00		Brothers	TN-850
[ALT1] Southern Computer Whse (SCW)	100	Cases		\$142.00		HP Inc HP 148XHigh Yield - black - original - LaserJet - toner cartridge (W1480X) - for LaserJet Pro 4001, MFP 4101	HP	W1480X
Market Ma	100			- PERMANALONS	\$14,200.00	Laseriet Pro 4001, MPP 4101		W1480X TN-850
TekVisions Inc		Cases		No Bid			Brothers	
Virtucom	100	Cases		No Bid			Brothers	TN-850
2	New High Yiel	d Black Toner Cartr	dge					
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Total	Additonal Information
HPI International, Inc.							0	
[ALT1] Kijero LLC							0	NOT THE PREFERRE PRODUCT
Hypertec USA Inc, (Hypertec Direct)	60	3	10	3	5	10	91	
CDWG	55	3	10	3	5	10	86	
Frontier Technology, LLC	50	3	10	3	5	10	81	
B & H Foto & Electronics Corp.	45	3	10	3	5	10	76	
454344580	40	3	10	3	5	10	71	
HOWARD TECH SOLUTIONS (HOWARD INDUSTRIES INC)	35	10	10	5	5	10	75	
[ALT1] Southern Computer Whse (SCW)							0	NOT THE PREFERRE PRODUCT



Specifications:

Quad-core (A Core) core processor
15 Hours battery provides ample time to do your routine tasks without charging.
16 GB RAM minimum requirements
256 GB SSD minimum requirements
12.3" screen size with PixelSense resolution
Core 17 processor for performing computational tasks effectively,
16 GB memory for smooth multitasking without crashing or slowing down.
K12 Warranty.

K12 Warranty
W10P minimum requirements
Need to include C Ethernet Adapters

AIT2 Wintscom 57	facturer#
Direct 67	40-A1
ASS September	
ASS SS SS SS SS SS SS S	00001
ALT2	00072
Direct 67	00264
ALT3 Hypertec USA Inc, (Hypertec Direct)	
Direct 67	0021
ALT Virtucom 67	
ALT	00005
ALT4] Hypertec USA Inc, (Hypertec Direct) 67 EA 5249.06 516,687.02 Microsoft Compilete for Business Plus 13" Tablet, 17 Processor, 8gb, USB 3.0, 4 port usb hub, 5tand, Win 10P, usb 3.0 to NIC(Ethernet RJ45) Keyboard, mouse, Wifi, 8 hour battery, 2 year warranty, setup & remove TekVisions Inc 67 EA 5795.00 553,265.00 69 equipment Samsung Galaxy Tab S9+ Tablet - 12.4" - Qualcomm SM8550-AB Snapdragon 8 G2 Octa-core - 12 GB - 256 GB Storage - Graphite - Cortex X3 Single-core (1 Core) 3.36 GHz - Opto 1 Memory Card Supported Capacity - microSDXC, microSD Supported - 1752 x 2800 - 12 Megapixel ALT1] Kijero LLC 67 EA 51,052.35 570,507.45 Piness ese attached Quote/ Specifications for warranty options for the K12 Warranty request Microsoft Corpora JN8825 Frontier Technology, LLC 67 EA 51,114.64 574,680.88 Called John and he verified over the phone the Microsoft Surface 7 Lig Price includes Microsoft Surface (10M-000014-C Ethernet Adapter + K12.3 yr Surface Mfr. Extended Warranty - A9W-000015urface Pro 10 devices have gone end of life as W10 will no Microsoft Corpora JN8825 Microsoft Corpora JN8825 67 EA 51,271.89 585,216.53 Jonger be supported by Microsoft as of October 2024, hence we are proposing a W11 device Microsoft Corpora JN8825	00287
Microsoft F9W-00158 18	00094
13" Tablet, 17 Processor, 8gb Ram, 256gb, USB 3, 0, 4 port usb hub, Stand, Win 10P, usb 3, 0 to NI/CEthernet RJ45/keyboard, mouse, Win, 8, hour battery, 2 year warranty, setup & remove TekVisions, Inc. CMP-TEKTAB Samsung Galaxy Tab 59+ Tablet - 12.4" - Qualcomm SMB550-AB Snapdragon 8 G2 Octa-core Campaigner of Samsung Galaxy Tab 59+ Tablet - 12.4" - Qualcomm SMB550-AB Snapdragon 8 G2 Octa-core 12 GB - 256 GB Storage - Graphice - Cortex X3 Single-core (1 Core) 2.80 GHz - Upto 1 TB Memory Card Supported Capacity - microSDXc, microSD Supported - 1752 x 2800 - 12 Megapixel [ALT1] Kijero LLC	
NIC(Ethernet R45)Key/board,mouse,Wifi,8 hour battery, 2 year warranty, setup & remove equipment	00158
Samsung Galaxy Tab 59+ Tablet - 12.4" - Qualcomm SM8550-A8 Snapdragon 8 G2 Octa-core	
12 GB - 256 GB Storage - Graphite - Cortex X3 Single-core (1 Core) 3.36 GBt + Cortex A715	TEKTAB13i7
Frontier Technology, LLC 67 EA \$1,114.64 \$74,680.88 Called John and he verified over the phone the Microsoft Surface 7 16g Microsoft Corpora JN8825 Price includes Microsoft Surface (JIM-00001+C Ethernet Adapter + K12 3 yr Surface Mfr. Estended Warranty - A9W-00001Surface Pro 10 devices have gone end of life as W10 will no HPI International, Inc. 67 EA \$1,271.89 \$85,216.63 oliger be supported by Microsoft as of October 2024, hence we are proposing a W11 device Microsoft Corpora JN8825 454344580 67 EA \$1,299.21 \$87,047.07 Microsoft Corpora JN8825	B10NZAAXAR
Price includes Microsoft Surface (21M-00001+C Ethernet Adapter + K12 3 yr Surface Mfr. Extended Warranty - A9W-000015urface Pro 10 devices have gone end of life as W10 will no 4Pl International, Inc. 67 EA \$1,271.89 \$58,216.51 longer be supported by Microsoft 2024, hence we are proposing a W11 device Microsoft Corpora JN8825 54344580 67 EA \$1,299.21 \$87,047.07 Microsoft 2024, hence we are proposing a W11 device Microsoft Corpora JN8825	15
Estended Warranty - A9W-00001Surface Pro 10 devices have gone end of life as W10 will no Estended Warranty - A9W-00001Surface Pro 10 devices have gone end of life as W10 will no Special Properties of Special Properties o	
454344580 67 EA \$1,299.21 \$87,047.07 Microsoft Corpora JN8825	
	.5
C1 444 00 C0 F47 00 E1 444 00 F97 F47 00 E1 444 00 E1 44	.5
VITUCON 67 EA 51,441.00 536,547.00 MICROSOT COPPORA INGOES	5
HOWARD TECH SOLUTIONS HOWARD INDUSTRIES INC) 67 EA \$1,519.00 \$101,773.00 Microsoft Corpora JN8825	5
ALT] Virtucom 67 EA \$1,620.00 \$108,540.00 Microsoft Surface Laptop 5 (Data Sheet included) Microsoft RBA-00001	
Parts quoted for \$1815 Package cost: ZDV-00001, EP2-00395, F9W-00287, 324012114343.	
CDWG 67 EA \$1,815.00 \$121,605.00 and USBC to Ethernet Adapters Microsoft Corpora JN8825	5

HP Inc. - Engage Go 13.5" TabletiS-1140, 16 GB RAM, 256 GB SSD, Win 11 Pro6L150AVHP IDS UMA IS-114007 16GBEngGo13.5Tablet46Z16AVElectronic Energy Star labeling (EStarpEL183AVOST Win 11 Pro 6445S11AVOS Localization6CQ4P3AV256GB PCle NVMe Value SSDGLEA6AVELK PLan FPR Mobly bump convertible IDGL198AVIntel AV301 Wi-Fi6+BT5.2 vPro WLAN 2Ant6L146AV65 Watt nPFC US8-C AC Adapter6CQ4P5AV3/3/3 Warranty6F790AVCS 1.5 ms stkr CNVTL Power Cord6L154AVEngage Go No Barcode Scanner4PV61AVOIB EngageGO Cnv Dck StcOl S885CQ4P4AVCountry Localization6L180AV13.5 BV WUXGA+ UWVA LED nWWAN BLK bnt LC6C91AVNo MVAMSEL MOVING EngageGO Reades 15 available 15 availa WWANGLIDOAVNo Fingerprint ReaderSL147AVCB Long Life 42Whr FstCrg 3 cell
Batt3MH50AVAMT DisabledA42J0AVCustomer Support42225AVDIB EngageOne I/O ADV
ATT BLKGG4V4XNO Ingenico Moby payment18N23AVCore I5 szz G11
\$133,263.00 Label46217AVElectronic TCO Certified labeling

[ALT1] Southern Computer Whse

\$1.989.00 6L150AV-CTO No Bid B & H Foto & Electronics Corp. Microsoft Corpora JN8825



3	Computer Tablet											
Supplier	Criteria 1	Criteria 2	Criteria 3	Criteria 4	Criteria 5	Criteria 6	Total	Additional Information				
							0	Rocstar USB-C to Gigabit Ethernet				
[ALT2] Virtucom							- 8	Adaptor				
[ALT1] Hypertec USA Inc, (Hypertec							0	OLDER VERSION-4				
Direct)							_	GENERATIONS BEHIND				
200							0	NOT THE PREFERRED				
[ALT3] Virtucom							_	PRODUCT				
[ALT5] Virtucom							0	Microsoft Extended Hardware Service Surface Pro10 US 3Yr				
[ALT2] Hypertec USA Inc, (Hypertec							0	OLDER VERSION-4				
Direct)								GENERATIONS BEHIND				
[ALT3] Hypertec USA Inc, (Hypertec							0	OLDER VERSION-4				
Direct)							0	GENERATIONS BEHIND				
[ALT6] Virtucom							0	Microsoft Extended Support w/ADP Surface Pro 10 3Yr				
								NOT THE PREFERRED				
[ALT4] Virtucom							0	PRODUCT				
[ALT4] Hypertec USA Inc, (Hypertec								OLDER VERSION-4				
Direct)							0	GENERATIONS BEHIND				
The state of the s								DID NOT MEET MINIMUM				
								REQUIREMENTS-SLOWER				
							0	MEMORY WILL SLOW				
[ALT1] TekVisions Inc								DOWN THE PROGRAM				
[rera] reconstine							1	DISQUALIFIED DUE TO NOT				
							0	NO WARRANTY PROVIDED				
[ALT1] Kijero LLC								NO WARRANTY PROVIDED				
			5		8		0	OLDER VERSION-4				
Hypertec USA Inc, (Hypertec Direct)							U	GENERATIONS BEHIND				
								OLD GENEREATION MODE				
							0					
Frontier Technology, LLC				5				7TH GENEREATION				
							0	OLD GENEREATION MODE				
HPI International, Inc.							0	9TH GENERATION				
							0	OLD GENEREATION MODE				
454344580								7TH GENEREATION				
Virtucom	60	3	10	3	5	10	91					
								OLD GENERATION MODEL				
HOWARD TECH SOLUTIONS							0	9TH GENEREATION				
(HOWARD INDUSTRIES INC)								91H GENEREATION				
							0	NOT PREFEREABLE				
[ALT1] Virtucom								PRODUCT				
						iii		CASE IS WRONG-NO				
	55	10	5	3	5	10	88	WARRANTY-COST TOO				
CDWG	2200	0.000		11.80			12000	HIGH				
[ALT1] Southern Computer Whse								NO WARRANTY-NOT				
(scw)	I		1				0	PREFERRED PRODUCT				

